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1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19
45 20 0,5 — — — 10C3 100 0,8 1 30 34 550 2 BC.p. [ *ormexc cronbyponux 66 HE BHABJICHO
LIKITHHKIB
50 16 9.0 — — — 10C3+/13+Bn 85 0,7 1 26 36 388 2 B.C.p. [ ormrexe crosbyponux 9 HE BUSBICHO
IIKIIHHKIB
50 19 1,6 — — — 10C3K 50 0,75 1A 21 26 340 2 B.C.p, | Xomnexc crosGyposux 31 HE BHSABIICHO
LKL THUKIB
109 ) 8,1 — - — 10C3 75 0,75 1 24 2 390 2(e) | BCP. | crostponn 8 HE BURB/ICHO
58 8 46 — — — 10C3 59 0,75 1 22 24 355 2 B.C.p. | xovmnec cronbyponux 29 HE BUAB/IEHO
IUKIAHHKIB
70 19 1.7 — — — 10C3 53 0,9 3 14 16 200 2 B.C.p, | Kovmnesc crosGyposux 19 HE BUSBIIEHO
1K1 AHHKIB
102 3 24 — — — 10C3+Bn 80 0,7 1 25 36 360 2 (e) B.C.p. [ xoMmrexc cronbyposkx 9 HE BUABJICHO
@ LIKIAHHUKIB
2
10C3 54 0,8 1 20 24 320 !
3 || s 87 | — — - 2() | BCP. | RO costipomn 13 He BHABICHO
=Y 10C3 120 - - 26 46 20
= - —
) 102 10 1,0 — — — 10C3(47)+C3(70) 47 0,75 1 17 20 250 2 (e) BCP. |* “"Z‘;;"uffjp" " 14 HE BHSABJICHO
= 102 16 1.6 — — — 10C3+Bn+0c 54 0.7 1 21 26| 310 2(e) | BCP. | e cronovponn 10 HE BHABNIEHO
10C3x 76 0,7 1 24 32 360 S
74 5 8,0 — — — 2 B.C.P. Komzﬁ:ﬂzxzpoa ’ 6 HE BUSBJEHO
10Jup+113 33 0,35 - 10 8 30
74 10 09 — — — 7C3(55)3C3(75y+bn | 55 0,75 1A 22 24 370 2(2) | BCP, "o crontiponn 28 HE BUAB/IEHO
90 16 4,0 — — — 10C3 90 0,6 2 25 36 330 2 B.Cp. | xowmrexecrosbvponu 12 HE BUABNEHO
LHIKITHHKIB
91 2 55 — — — 10C3 88 0,75 3 21 26 280 2 (e) B.C.p. | oMmnec cronbyposux 10 HE BUABIICHO
LIKITHUKIB
91 17 1,7 — — — 10C3 90 0,55 2 25 36 300 2 (e) B.C.p. | Xowmnexe cronbyposux 17 HE BUABAEHO
” LIKITHHUKIB
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ULKLIHHK K

2 3 4 5 6 7 8 9 10 12 13 14 15 16 17 18 19
10C3 100 0,7 2 24 36 350 ,
92 6 52 —_ — — 2(e) B.C.P. KOMMZ‘::]S::::DOB"X 4 HE BUSBJICHO
5135]7up 37 025 - 6 6 15
10C3 100 0.7 2 24 34 350 ,
92 8 4.1 — — — 2(e) B.CP. KOMM::‘;'::;?:DOBM 15 HE BUABJICHO
515 [up 36 0,25 - 5 6 10
148 17 2.1 — —_ — 10C3 80 0,65 1B 31 40 450 2 B.Cp, | wommaexccronGypomu 19 HE BUSABJICHO
LHKITHHKIB
151 45 16,0 — — — 8C32/13+bn 95 0,5 1A 32 40 360 2(e) B.C.P. “°”‘""Z‘:i;:‘;f;"°""‘ 1 He BUSBNEHO
163 5 2.6 — — — 10C3 80 0,7 1A 30 36 500 2(e) BCp, | roumnec crosbyponn 29 He BUABAEHO
LIKIAHHKIB
163 6 0.9 — — — 9C31 Jlz+Kar 52 0.7 15 25 26 370 2e) | BCP | ontponn 12 HE BUABIICHO
163 13 1,6 — — — 9C31 I3 67 0,65 1B 28 32 390 2(e) B.Cp | rowmnexccrosbyponis 16 te BUSIBICHO
LIKIZHHKIB
163 24 0,8 — — — 10C3+]13 60 0,6 133 29 36 360 2 B.Cp. | vommexecrosGyponu 24 1e BHSBNEHO
LIKIAHHUKIB
158 4 6,3 — — — 4C3(150)2C3(90415-13 | 150 0.4 2 29 56 220 2 B.C.P. ""”‘”‘z‘:i;‘l’:f;”"“”‘ 56 He BUSBACHO
170 12 22 — — — 10C3 78 0,75 1A 30 34 540 2 B.Cp. | xovmnexecrosyponn 12 He BUSBSCHO
%] IUKLIHUKIB
E 171 | 32 — — — 10C3 81 0,8 15 31 32 550 2 BCp, | roumnexecrosbypoans 2 HE BUABJICHO
LIKIIHHKIB
g_ 17 3 36 — - — 10C3 79 0.7 1A 30 30 470 2 B.Cp, | rommreccrostypomi 20 He BHABNIEHO
u LKIJHWKIB
) 198 ] 34 ) 0.6 0,6 9C31/13 90 0,7 1A 30 38 460 2 (e) B.C.P. “°"’“J‘f::i;:;f§"°“”‘ 33 He BHSBAEHO
K 191 18 1.0 — — — 10C3+/13 56 0,8 15 26 26 430 2 (e) BCp. | rovmnexe cronbponn 43 HE BUSBAEHO
HWIKIAHHKIB
192 15 0,9 — — — 10C3+Bn+Oc 59 0.75 1A 26 28 400 2 (e) B.C.P “"“’“i‘j;;‘:fg’""“"‘ 23 He BUABJICHO
192 17 0.8 — — — 10C3+Ak6 67 0.7 1A 27 28 430 2(c¢) BCP ""“‘”‘z‘;;::‘f:"“’“‘ 38 HE BHUSBACHO
194 26 13 — — — 10C3+/13 52 0.9 1A 23 20 440 2(e) B.Cp | rovmneke crosGypomss 16 He BUSBACHO
UKL IHUKIB
197 ] 24 — — — 10C3+)13 59 0.9 1B 27 28 510 2 (e) g p | vonmexecronbipomm 13 HE BUSBIICHO
LWKIIHUKIB
198 2 2.5 — — 10C3 75 0.75 1A 29 30 460 2 BCp | Foumrese cronbyposus 21 1 BUSBACHO
1LEKLIHHKLR
200 2 0.3 — — 10C3+ 13+ AKG 50 0.75 1B 24 26 370 2 (e) B.CP “°““"f::lm‘;?;""“"“ 30 HE BUABJICHO
200 4 0.5 — — — 9C31 13+bn 50 0.8 15 24 26 370 2 (¢) B.CP "°““1Z'l‘:mﬁﬂz‘f:”°““‘ 14 He BUSBJICHO
236 5 34 — — — 9C31)13 109 0.7 1A 34 48 500 2 B p | Rosnexe crosGrpomn 35 e BUABAEHO
WK AHHKLB
237 10 24 — — 9C31 J3+1'3 100 0.75 1A 32 50 530 2 B p, | xommexe croaGypori 46 HE BUABJICHO
WKIAHUKIB
240 1 37 — — — 93113 10 0,75 1A 32 48 530 2 RO p | Rosmeks crondrponin 25 1e BUABIICHO
UIKITHHK1B
Pazom: 130,5 0,6 0.6
24 7 1.8 — — — 10C3+/13 88 0.75 1A 32 36 580 2 () B p | Kowmaeke crondpo 52 He BUSBIIEHO
WKLHUKIB
24 8 37 — — 8C31 1131 bu+Oc 78 0.8 1A 30 36 500 2(¢) B p | Koumese cronbiponis 20 He BUSBACHO
WKIIHWKIB
g 24 10 1.6 — — — 10C3 88 0.75 1A 31 36 580 24q¢) BCP ‘e“‘j’mp“ 78 1e BHIBACHO
'§ 24 1 43 — - 8C32/13+bn+Oc 76 0.7 1A 27 34 400 2 (e) B.CP 'f"fl :"5‘ poR 34 1e BUSBICHO
N 58 6 0.6 — — 10C3 85 0.7 5 32 36 520 2qe) g p | rosmescorondipomn 73 He BUABJICHO
Q WKILAHUKIB
g 104 2 1.6 - — - 10C3+]13 96 0.7 1A 31 42 500 20 BOp | owese cronbipomn 19 1 BHSBIEHO
UIKELTHHKIB
= 104 3 18 — — — 8C32)13 96 0.7 1A 32 38 480 2 () B p, | Rowmeewe crostrpan 17 HE BUABACHO
HIKIIHUKIB
74 } 9.5 — — - 10C3 59 0.7 b 27 28 390 2 () B p | rosmese crotipoms 15 He BHABJICHO
WKIHHKIB
131 7 0.6 — - — 10C3 56 0.8 15 26 30 420 2(¢) Bp | omene componin 57 1 BHABIICHO




Ilaecennke

2 3 4 5 8 9 10 11 12 13 14 15 16 17 18 19

223 ] 2,0 — 10C3 88 0,7 ] 29 32 460 2 BCp, | xovmexe crooSyposu 20 HE BUABJIEHO
luKlgHMKIB

203 2 1,5 — 9C31Bn+/3 75 0,75 1 26 32 380 2 (e) B.C.P. "°”"”f:;;ff:"°"“* 34 He BUSIBIIEHO

203 7 16,0 — 9C31 /13 74 0,7 1A 28 30 400 2 (e) B.C.P. "°“"”°m“:l;"y:f:"°‘"‘ 14 HE BHABJIEHO

178 8 272 — 10C3 70 0,7 1 23 26 340 2(e) BCp, | xovmackecrosbyposm 28 HE BUSBJIEHO
UIKIAHHUKIB

178 9 1,6 — 10C3 80 0,7 2 21 26 300 2 (e) BCp, | ovmexe croebyponin 16 HE BUABJIEHO
1LKIIHHKIB

234 5 3,0 — 10C3(55)+C3(70) 55 0,8 1 21 28 350 2 B.C.P. "°“"”jl‘;;""jf:"°‘"x 11 HE BUSBJIICHO

236 3 0,6 — 10C3 98 0,7 1 29 40 450 2 B.Cp, | rovmeke crosbypon 33 He BHABJIEHO
K THHKIB

236 5 04 — 9C31/I3 100 0,7 1A 31 36 450 2 BCPp, | rowmaexecronlyponix 72 He BASBIIEHO
IKI JHHKIB

236 14 — 10Ca 80 0,7 1A 29 32 450 2 B.C.p, | rounrexecronbyponix 14 He BUABJICHO
IKITHUKIB

236 7 1,9 — 9C31 I3 98 0,7 1 30 40 450 2 B.C.p. | roumexe cronbyponix 31 HE BUABJICHO
LIKLAHUKIB

236 11 2,0 — 10C3 95 0,7 1A 31 44 450 2 B.Cp, | Kovmexe crosbyponi 30 He BUSB/IEHO
IKLAHKKIB

236 12 19 — 10C3 85 0,7 1A 29 38 450 2 B.Cp, | roumrexe cronbyponid 21 HE BUABNCHO
IKIZHUKB

253 1 12 — 10C3 85 0,75 1 28 30 450 2 B.Cp, | rormexe crosbypon 12 He BUSABICHO
LIKIAHUKIB

253 2 2,0 — 10C3 98 0,75 1 30 40 510 2 BCPp, | rowmrexccrosbypomx 31 He BUSBJICHO
KL IHUKIB

253 3 2,5 — 10C3 85 0,7 1 28 32 400 2 B.Cp, | ¥ovmrexe croabypoan 28 He BUABNCHO
IKIJHHKIB

323 18 1.4 — 10C3 79 0,8 1B 31 36 570 2(e) BCP. “°“’“f:;ﬂ”ﬂ‘:fj"°""* 39 He BUSBIIEHO

323 20 1,3 — 10C3 79 0,75 15 32 36 550 2(e) B.CP. ""“‘”‘:;;j;?j"“"‘ 28 He BHSBJICHO

335 1 2,5 — 10Cs 77 0,85 1B 30 32 580 2 (e) B.Cp, | ¥ovmexe cronbyponiex 53 He BUSBIICHO
K ZHUKIB

340 2 42 — 10C3+]3 55 0,75 1A 23 24 370 2(e) B.C.P. “““""f:;;"l;z"""“‘ 15 HE BUSABJICHO

345 5 2,8 — 10C3+Ak6 63 0,75 1A 27 30 420 2 (e) B.C.P. "°“"”::i;‘l’:fj"°““" 2 He BUAB/NCHO

275 19 K — 10C3+]13+bn 73 0,8 1A 29 32 530 2 (e) B.C.P. '“’““‘"f::m”"zif’g""“"* 38 HE BHABJIEHO

275 17 1,0 — 10C3+]13 71 0,75 15 29 36 450 2(e) | BCP | cTonvponix 35 HE BUABNEHO
IKIAHHKIB

275 14 0.9 — 10C3+/13 75 0.8 1A 29 32 530 2(e) | BC.p. | crotipon 39 HE BHABIICHO

275 12 0,3 — 9C31/13+Bn 76 0,7 1A 28 30 400 2(e) B.C.P. "°”"“f;‘:j;:ﬁf"°“"* 103 HE BUSBJICHO

275 1" 0.2 — 10C3(75)+/13+C3(100) | 75 0,75 1A 29 32 460 2 (e) B.C.P. ‘“’“““:‘:;;fj”‘"‘ 40 HE BUSBAECHO

275 7 0,8 — 10C3+[13 72 0,75 1B 29 32 460 2(e) B.C.P. ""“"“Zf;mf:""“"‘ 38 HE BUSB/ICHO

275 5 1,0 — 10C3+/13 71 0,8 16 29 32 530 2 (e) B.CP. “°”““3‘:;3:?§"°“"‘ 43 He BUABJIEHO

172 22 23 — 10C3 78 0,7 1 27 k?) 450 2() | BCPp, [rome crosdipon 36 He BUABNEHO

172 13 0,9 — 9C31 I3 85 0,75 1 28 36 450 2 (e) B.C.P. “"“""fl‘l‘:l:;:zfj""““‘ 19 He BUSBIIEHO

172 1 0,5 — 8C32)1z 85 0,75 1 28 34 450 2 (e) B.Cp. | xonmece croadyponn 12 He BUABJICHO
WK1 IHHUKIB

172 5 1.4 — 10C3+]I3 80 0,7 1A 28 32 400 2 (e) B.Cp | rovmacke cronGyponx 39 He BUABIICHO
UIKIAHHKIB

172 3 1.8 — 10C3 80 0,7 1A 28 36 400 2(e) | BCP, oM crostypo 20 HE BUABIICHO

172 1 0,7 — 10C3 80 0,7 1A 28 34 400 2 (e) B.C.p. | oM croabyponm 34 HE BUSBJICHO
1IKITHHKIB

121 8 2,7 — 10Cs3 75 0,8 1A 28 32 510 2 (e) B.C.p, | vovmiesccronbyposinx 16 He BUABIEHO
1KIAHHKIB

121 6 28 — 10C3 75 0,75 1A 27 32 450 2 (e) B.C.P. “"“"”::‘;;‘:fg""""‘ 15 HE BUABNCHO

121 4 2.9 — 10C3 75 0,75 1A 28 32 460 2(e) B.Cp, | vormrekc cronbyposins 13 HE BHABJIEHO

LIKIAHHKIB




2 3 4 5 6 7| 8 o |10 | n 12 13 14 15 16 17 18 19
2 13 18 13 — — — 10C3 72 | 075 1A 27 30 420 | 2(e) | BCP |rmsccratmom 35 HE BUABICHO
§ 108 1 04 — - — 10C3 60 | 075 1 22 20 350 2(e) | BCP. | oo 28 HC BUABICHO
s 107 7 53 — — — 10C3+/1s+Bra 58 0.8 1A 23 28 380 2(e) | BCP. | ovme crosvpon 7 He BUSBIICHO
g 79 7 85 — — — 10C3k 60 0,8 15 27 28 460 2 (e) B.Cp | xovnaecccrosbyponiy 27 HE BUSBJICHO
: IKLIHHKIB

Pazom: 1154 — —
Pazom no JIJIC: 245,9 0,6 0,6
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